
Toutes les opérations avec les nombres entiers (G)Utilisez la stratégie d’un nombre entier pour trouver chaque question.(-74) ∙ 80 = (-28) - (-58) = (-38) + 27 = 
1863 ÷ (-81) = 8 - (-11) = (-62) - 75 = 
3055 ÷ 65 = (-75) + (-66) = 89 + 89 = 
(-64) + 70 = 56 ÷ (-56) = 8 + 59 = 
946 ÷ (-11) = (-34) ∙ (-35) = (-84) - 14 = 
(-232) ÷ (-58) = (-3) + (-36) = 10 ∙ 83 = 
(-58) ∙ 74 = 918 ÷ 54 = 85 + 70 = 
(-98) - 76 = (-5) + (-30) = 69 + 11 = 
(-35) ∙ (-43) = (-4554) ÷ 66 = 31 - (-51) = 
(-46) ∙ (-71) = 84 + (-95) = (-99) + (-90) = 
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